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TRIPURA MATHEMATICAL SOCIETY
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TRIPURA STATE COUNCIL FOR SCIENCE & TECHNOLOGY

Junior Mathematical Olympiad - 2017
(For Students studying in Class VIII)

Full Marks : 60 ; Time': 2 hours.

[All questions are compulsory Every questmn is written first in English and then in Bengali. Answer (Ans:)
is written there after where you have to write the answer. Calculator is not allowed.] -
[Calculation sheets supplied by the centre must be'attached with this answer paper]

GROUP - A
12x2=24
[Each question has four answers of which one is correct. UNDERLINE the correct answer. 1/2 mark will be
deducted for each wrong marking. Cancellation or over writing is not allowed| '

1. If x is a perfect square number, then the next perfect square is
x G ool 7, #ar Y sjefasf sieanfh 2 — :
a) x+1 b) x*+1 . ¢) xH2x +1 d) x+2 Vx+1

2. The diameter of a semi-circular field is 14 meters. The cost of fencing the plot at Rs. 15 per meter is
< TR T <t 14 11 @S BT 15 biet et wrafbre wt e 9b oped —

a) Rs.360 b) Rs. 500~ . ¢) Rs.540 _d) Rs. 1080
3. If 8x—3=25+17x,thenxis :
i 8x —3 =25+ 17x T, & X : _
a) a natural number (970 FreifE A=)  b) an integer (=% S )
¢) a rational number (4% s Fewr) d) None of these (Q@TET (DR 73)

4, A table marked at Rs. 15000 is available for Rs. 14,400. The discount percent is
15000 Bret scera @b (Bt 14,400 BIAr #ile AICHR | LT ST BIG 21—

a) 2% b) 4% ¢) 5% d) 7%
5, The value of (=4)* + 4 +4%is' |
L (44 4 @AW

a) 12 b) 4 ¢) 1 - - d)o

6. If one'of the dlﬁgonals of a rhombus is equal to one of its sides, the greater angle of the rhombus is
it i 7R Gl 2 Bz @b e TR ST 7, wmmmqmm—
a) 60° b) 120° c) 90° ¥ d) 150°

T4 If 7 times (x+6) is equal to 4 times (3x = 2), then the value of x is
W (x+6) &3 7 G4 (3x — 2) G 4 ST FAH ¥, OIZE x 9 WA
a) 10 b) .?% ¢) 34 , d) 68

8. - If xya=(3x +2y)’ — (3x — 2y) then the value of *a’ is
T xya = (3x +2y)? = (3x — 2y)* T ORA ‘a’ G W
a)0 b) 12 c) 24xy d) 24
9. The compound interest on Rs. 30,000 at 7% per annum is Rs. 4,347. The period in years is
AR 7% A 30,000 BIera 5erq T I GO FTCH (IRCH) 4,347 BI 20 O 7 —
a)2 " b) 2.5 _ ) ' dya
10.  Ifthe capacity of a cylindrical tank is 1848 m’ and the diameter of its base is 14 m, then the depth of tank 1s

T G (SIS TeTaTa (Pl 1848 m? 3% 3 g 14ﬁmawwwmmﬂ@rmm
a) 12 m b) 10m ¢) Ilm d) 15m




11. A work can be completed by a certain number of workers in 100 days. If 10 workers are less it will
~ . take 10 more.days. The number of workers-are ;

BB 100 ﬁmw%ﬁ’fmwm mﬁﬁﬂw 10 mwmmﬁww)

: ----ﬁ#@ﬁrwmmﬁmﬁw . :
ey 10007 Sy e AT oy 150 : _' d) 200
12. Fromi the foliovnng-:"t__h‘b f%]séstateﬁieﬂhs L g
o Refeefm e RS L . _
a)4 < yI§ < 5 . "b) 68%6f 1 kg=-68kg
0) -%_< —% d) 20 x 201 = 200"

GROUP - B 12x2=24
[Write the answer only 3t the proper place]

B 0 _'I‘h:ee nurnbcrs are m the rgtlo 1: 2: 3. The sum of their cubes is 98784. Find the numbers.
: @?ﬁﬁ«ﬁﬁ‘ﬂiﬁw 1 . 2:.3 Wwwm 98784151‘{4!]1@1%1‘%451W| g
: _Ans :

14. ABCD is a rectangle and PQJ.BC Calculate the ztréa o
- of the shaded portion. :
" ABCD «ft sitireriRa e PQLBC |
Ans:

15. A football team won 10 matches out of the total number of matches they played. If their win percentage
. was 40, then how many matches did they play in all?

e o ow e i (4T ot 0 10 mwmw | T DI SR TR R 40 T SR
@mmﬁmﬁw cﬂm%a!
- Ans:

‘ S. 4a + 3 R
16.  PQRS isa squares Find b. .
PQRS maml b el

Ans:

31

e 1.-_;‘- 3l 3 - P 33+6b Q
17. Slmphfy “ U509 +°425 + N7 +301

FEFa: 500 +N25 + 7T
~Ans:

. 8. ' The populanon of a clty constantly i mcreases at a umfonn rate of 10% per yca: If thc prcscnt populahon
the city is18;150 then what was its populatson in two years back? - -

' wﬁw IR uﬁsw IO%Wqﬁaefmz‘wﬁaww m«m 18 150%53‘@*{5#

Ans:

19. ABCD is a parallelogram and /ABC = 110°% CO and DO are B A
bisectors of angles C and D respectively. Find /COD.

ABCD ¢@3f6 7 @32 JABC = 110° | CO @32 DO A&
/C e /D a7 srffadws | /COD Refa ==

Ans:




0. If S= w then find S iwhen ni=20-
n (n+1) (2n+1 - : :
it S= —(—)6L_——) TWORE n =20 GA T S GF I TS ?

21, If 5%+5%+ 5%+ 5%+ 5% = 5 then find the value of x.
W 55+ 555+ 5554 55 4 5% = 5% Sy BIYEA x GANAITO?
.Ans: :

Grocery ([l <=1s )
D Food (¥RR)

Travel (&99)

Book (33)

Bill (=)

22.

The pie chart shows the category wise expendlture ina famﬂy Find the central angle for ‘the travel
sector.

ﬁmwmmﬁﬁawwﬁmmlmwwa@umﬁwwﬁﬁW|
Ans: : £
23. If 20-4=10 and 30—6=10 then 40—8=2
M 20-4=10 @ 30-6=10 T 40-8=2

Aﬁs : Nt . IEEN 2%
Find the rmssmg number in the given number pattér_n .
mmmmcwﬁﬁﬁﬁﬂmﬁmwx e
AIIS : L
GROUP-C

3x4=12
[Important steps of calculation, Statements and proof wherever necessary are to be given]

25. Ifa=b" b=c® and ¢ =a* then find xyz.
I a=b% b=c¥ &% c = 2> T SR xyz 99 I ez 71
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Take any three digit integer, reverse its digits and subtract. [ Forexample 742 — 247 = 495] The dlITerence
is divisible by 9. Prove that this must happen for all three digit numbers abc.

'%ﬂ%ﬁﬁ%mﬁwwmmm\mﬁawﬁWWWWWI[czm?42 247 = 495]1

Ans:

27.

Ans:

Wﬁ9%ﬁ%lﬂqwﬁmwmmmmabcmwwmn

i

e, Tiwon

InAABC Lls obtuse. Slde BA of the triangle i in produced to the pomt D such that AD = CD Prove

that /BAC =90°+ & /ADC.
AABCm@aﬁwmﬁwﬁaBAmDmmma%wwmw CDmuamm
34, /BAC= 90°+2— /ADC |

C{H@@ {?/%77‘1
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